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AR A

NO.2 £l /4 =
O XRDEIFEAEHETEN
(M) { 6 X - 5( 2 X + y ) = 2
3 X - y = 8
(2) { 5¢( b'e + y ) — 9 «x = 3
3 X — 4 y = =2
4 x - 3 ( 2 x -y ) = 8
(4) { 4 ( X + y ) - y = -5
b'e — 3 ( b'e -y ) = 7
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s
(1) 4 x - 5 y =2 @
{ 3 x - y = 8 @
@ - @ X 5T,
-4 X - 5 y = 2
- ) 15 X - 5 y = 40
19 «x = 38
X = 2
X = 2 ZQIZRALT,
3 X 2 - y = 8
y = -2
( X y ) = 2 ., -2 )

(2) NEBETHE

-4 x + 5 y =3 @D
{ 3 x — 4 y = -2 -0
® X 3 + @ X 4T,
- 12 x  + 15y =9
+) 12 x - 16 y = -8
1y = 1
y = -
y = -1 ZQICRALT,
-4 x + 5 x ( 1) =3
4 x = 8
x = -2
«( ~, y) =06 -2, 1)
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(3) NEBETHE

3 o« - y = 2
{ - 2 x + = 8
O X 3 + 1 T,
9 x - 3 y = 6
) — 2 x o+ 3 oy =
7 x = 14
X = 2
X = 2 #OIZKALT,
3 x 2 - 2
-y = 4
y = 4
( X y ) ( 2
(4) RemmETIE
4 x + 3 y = -5
{ .. .
Q) X 1T - 2 T,
4 x4+ y = -5
) — 4 x + 6 y = 14
9 y = 9
y = 1
y = 1 ZOICKALT,
4 X + 3 -5
4 X = -8
X = -2
( X y ) 2,
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